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Opportunity cost means ------

RRIRCERE [ — B

A. Cost of all unit / §d T fdhad

B. Cost of the last unit / [aeadT = fhad

C. Cost of next best alternative / Ye=dl SdH qaiar fhud

D. Cost of all unit produced / IdTed Id Tl fbaa

Normally a demand curve will have the ---- shape.
AT ART0T IhTl PR ------ 3.

A. Horizontal / f&fdermiaR

B. Vertical / ferfasteresr

C. Downward sloping / el IaRd SIUMR]
D. Upward sloping / dX ded SITUTRT

Demand forecasting plays an important role in ----------------- :

L1111 o /1 [ — el Heard! YfHeT Soral.
A. Business Planning / 391 Mo

B. Consumer’s Study / JUHTGATT 34T

C. Elasticity of Demand / AUl dafaahdl

D. Interest Rate / ISIgR

Survey Method is a --------------- method of demand forecasting.

TderoT tegret € ARTONEAT O SfaTefral --eeneeeneeene- TEd o,
A. Quantitative / TBATHD

B. Positive / YdIHD

C. Negative / BUTHD

D. Qualitative / T[UITHD

The expansion path is called --------

1oES3 R L] s ———— gl daled . .



A. Big line / {31 ST

B. Short line / 3{e9 N

C. Paper line / TOR ST

D. Scale line / THTUT ST

The amount which has to be spent at the time of replacing of the
existing asset is called the -------------

ot fhar Higad qqmwaa"r@%féﬁ?«ﬂwﬁ&rgwm

A. Replacement cost / CEYIRCE]
B. Average cost/ W T
C. Variable cost / Sgadl @d

D. Fixed cost / FRR &

In which market, there is single seller?
DIUAT IRUSHS Uhd fdshdl SEdl?
A. Perfect competition / qpf;qenc

B. Monopoly/ﬂa%?ﬂﬁ

C. Oligopoly / 3B R

D. Duopoly / GaT¥HR

Selling cost affects on -------

faep! A ------ TR TRI0MH Biell

A. Qualitative demand / T[0T HITUR
B. Consumers demand / STHIT ATOR
C. Saving demand | Sd HRTOR

D. Investment demand / T[ddU[d AT

--------------- pricing is also called as full cost pricing.

............... Riwrciten uof - @ e St T

A. Dumping / 3{@gsH
B. Cost-plus / Td 3%



C. Saving-plus / Sd HfdH
D. Investment-plus / JddU[& e

Q10. Which of the following criteria is often preferred? (8)
T IAUD! HIvT FHN Saraal WU fad Sira?
A. Net present value / fHedcs CREIE] H
B. Profitability index / T Fgis
C. **Internal Rate of Return / URaTed=T 3faiid &
D. All of the above / a3d 4.




